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cl (mg/L) 12 2.9
HCO, | (mg/L) 38 63
S0~ (mg/L) 23 5.0
Na* (mg/L) 7.0 8.5
K* (ng/L) 2.3 0.79
Ca* (mg/L) 31 14
Mg?* (mg/L) 4.8 3.6
EC | S/ ) 22 11
19.5 19.5
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RW-1 RW-2 RW-3 RW-4 RW-5 RW-6 D-1 D-2 GW-01 GW-02
"04/9/21 9:25 "04/9/21 14:25 "04/9/21 13:50 | "04/9/21 11:50 | "04/9/21 10:20 | "04/9/21 10:25 | "04/9/21 11:24 "04/9/21 11:00 "04/9/29 13:20 | "04/9/29 13:35
H - 6.8 7.6 7.1 7.6 7.7 7.1 6.8 7.9 6.2 6.8
TOC (ng/L) 1 1.6 1 1.6 5.8 1 7.4 43 1.5 1
T-Cr (mg/L) 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.02
sS (mg/L) 3 5 1 2 6 1 2 6 12 11
T-N (mg/L) 0.99 1.1 0.72 1.2 5.5 0.62 4.0 33 7.5 0.33
DO (mg/L) 8.5 8.5 9.0 9.0 8.5 8.9 7.0 7.2 5.0 2.8
cr (mg/L) 4.1 21 3.1 21 37 3.9 86 170 12 2.9
HCO," (mg/L) 17 140 20 120 160 15 260 480 38 63
50, (mg/L) 5.5 120 4.2 100 120 2.4 350 170 23 5.0
Na* (mg/L) 4.0 19 3.8 18 30 3.8 86 130 7.0 8.5
K* (mg/L) 0.52 6.1 0.62 5.3 9.6 0.42 24 33 2.3 0.79
ca® (mg/L) 7.5 80 6.2 72 85 4.8 200 150 31 14
Mgt (mg/L) 1.4 10 1.2 8.5 11 1.1 21 24 4.8 3.6
EC ( /) 5.6 49 4.9 45 60 4.3 130 150 22 11
20.5 19.6 20.5 19.7 20.5 20.5 19.8 25.0 19.5 19.5
(L/sec) 1.2 27 3.9 32 43 3.0 0.2 4.3 - -
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